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(8) The formula AB = BA holds for all n x n matrices A and B.
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(9) If the vectors @, #, ..., ¥, are linearly independent in R™ then they must form a basis for R”.
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(10) There is a 5 x 5 matrix A with rank 4 such that the system A(Z) = 0 has only,the solution Z = 0.
T (B must Lave 98 Sd/

(11) If Ais a 3 x 4 matrix and B is a 4 X 5 matrix then AB is a 5 X 3 matrix.
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(12) Ifﬁ~ 3U + 4w = 54 + 67 + 71w then the vectors @, ¥, and @ must be linearly dependent.
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(13) There is a matrix A such that A [ = ] [ 5 } , 0/4(
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(14) The function T [ ’ } = [ ij ] is a linear transformation.
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(15) The kernel of any invertible matrix consists of the zero vector only.
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(16) The system | 4 5 6 | &= 2 is inconsistent.
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(17) There is an invertible matrix A such% { i } }
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